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T -1/ PART -1

[3]

[A]

a1 g g fenss / CHILD DEVELOPMENT AND PEDAGOGY
R@sr : =i god] % Gav @7 & [T @@ fEd 4w g

Direction : Answer the following questions by selecting the most appropriate option.

1.

fr=iifed ® & $H-A1 MR a7 R @
gfa H UF THR TeT & 7

(1) &idE gis

(2) HE g

(3) T ud i g

4) TS s

frifpd & | FI9-T1 FOH T 7@ 8 ?

(1) afe®s  Aemar ud oIfrm afemar
A T & E |

(2) A AT A aw H IQ
fyaa &1 & 709 &9 e e |

(3) dfah Aera 18 a¥ & g A T
Bl 2 |

(4) qfsw owmar ud IR orerEar
2T & T STemdn 2 |

SHEST % G & qRRfasE &
e & AR, ‘A & e
Fretifer & & fF o  |eied © 7

(1) geq o=
(2) geq
ORIEIE
(4) THEI

Level-2/3203

1.

3.

Which of the following is not a type of

intelligence as proposed by Gardener ?
(1) Musical Intelligence

(2) Linguistic Intelligence

(3) Logico-Mathematical Intelligence

(4) Creative Intelligence

Which of the following statement is not

correct ?

(1) Intellectual Disability and Learning
Disability are not same.

(2) A child with learning disability
essentially has an IQ score less
than 70.

(3) Intellectual Disability occurs before
age 18.

(4) Intellectual Disability and learning
Disability both are Developmental

Disability.

Which of the following system contains
Work Place' as the

Bronfenbrenner's Ecological Theory of

'"Parents per

Development ?

(1) Micro System
(2) Macro System
(3) Meso System
(4) Exo System

P.T.O.



[A]

4. @ W o T # 39 AW d I
Ted U Aol U qUihdl i 81 STl
qE 3@ & fF B AR W9 ff == &
e W U 31 2, 98 |iEhT Bt
JE wa ARRRE wRid B
2| 9= H FE FGER gaaH e ©

(1) 3™ Td e gry e &

(2) I AT

(3) fopa-uygd orgee &

(4) QISR AR

5. fifed § & dF-A1 FAT THIE

frepra 1 &’ % daw H 9E J@ e 7

(1) T8 aiicedl & e & 21 ¢ |

(2) T& I & HEH B GHA B I
g eifa & 21

(3) TE I FE/RART & 8T B R
ge fa T gEd @ e & QU
Tel T el oY 1 & wWaT w9 9
W@ FT G 2|

(4) 98 I FE #H S 49 B R
qedl Hhadgas @ad w9 " H
el 2 |

6. [=ifhd & & H9-91 H9F T 7& & 7

(1) &g orgeee UfEss @@er |

Hrfeerd 2 |

(2) fr-sga ergde Urss &aerd @
Hrfeerd 2 |

(3) A& e Rss @Eer] 8
Hrfeard 2 |

@) FrEugd  ogEed H o 9Rem,
A H Th FewIT Hb ¢ |

Level-2/3203

[4]

4. A mother gently strokes her infant's
forehead each time immediate before
breast feeding. Soon, she noticed that

forehead is

each time the baby's

stroked, he makes active sucking
movement. The baby's behaviour best

describes :

(1) Trial and Error learning
(2) Classical Conditioning
(3) Operant Conditioning
(4) Social Learning

5. Which of the following is not true about
"Zone of Proximal Development' ?

(1) Itisrelated to Vygotsky's Theory.

(2) It sets the upper limit on what the
child is capable to learn.

(3) It is a range of tasks that a learner
cannot perform without help of
others but yet cannot perform
independently.

(4) It is the upper limit of a task that a
learner can successfully perform

independently.

6. Which of the following statement is not

true ?

(1) Classical conditioning deals with
voluntary behaviours.

(2) Operant conditioning deals with
voluntary behaviours.

(3) Classical conditioning deals with
involuntary behaviours.

4) In operant conditioning,
'‘consequences’ are important in
framing an association.



7. 9 7 fgd-a § @ e W R
PR foar o, Uy U T ST SHe
T U9 Wl A 9 I o faER
W % g a9 ugr e 99 % 39
TR aIEl P HeET A1 T §

(1) JEUH BT
(2) JEUSH a9
(3) @ G
(4) faam=

8. f=ifed ¥ ¥ -4 Uk A &
e foepra @l T ik 787 & °

(1) Qe

(2) STCHETIRT
() TR

(4) QAT

9. Wis 3 A W " g @
BIeTE  (Triarchial) fo@ & ATER
Frfifed & 9 ®E-91 5 #1 0F TE5R
T 7
(1) i i
(2) ToATHE g
(3) i s
@) AR giE

10. I& FIF ‘T 70 do gemel, § gen
gee, Frifed & & e mEr @
Aferar @1 R 2 #Xar © 7 o
o=t = §ae -

(1) F&a & Afdehar & TR

(2) yd Eieardl Afcbr

(3) aTEIaaTS

(4) Afoear & FE da T &

Level-2/3203

[5]

10.

[A]

Meeta has overcome her fear of toy-
snakes. However on one occasion her
fear returned when she found toy-snake
on her bed. Such return of fear can be
termed as :

(1) Stimulus Generalization

(2) Stimulus Discrimination

(3) Spontaneous Recovery

(4) Extinction

Which of the following is not a process
of Cognitive Development as given by
Piaget ?

(1) Assimilation

(2) Accommodation

(3) Adaptation

(4) Shaping

Which of the following type is not a
type of Intelligence, as given in

Sternberg's  Triarchial Theory of

successful intelligence ?
(1) Analytical Intelligence
(2) Creative Intelligence
(3) Musical Intelligence

(4) Practical Intelligence

The example 'you scratch my back and I
will scratch yours', indicates which type
of morality as given by Piaget ?

(1) Beginning of Morality of Co-

operation
2
3)
“)

Pre-conventional morality
Realism

Not related to moral concern

P.T.O.
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11.

12.

13.

14.

15.

i & & SM-A1 e AgEed 9
e 787 & ?

(1) @

(2) @@ g

(3) ST

(4) FEYF fadeT

T Pl TV e & ¥
(1) &geret e

(2) fo@r % 9

(3) o Tho X

(4) o dio gedd °

frfafad & & S9-91 f9heq AT
P ORI B ST & oIl ® 7
(1) aMiiSTs &7 § SFJHIET Haer &l
e
(2) GHEISTS B d SFJHICT GfHET &
HT
(3) @IS AT @l e

4) SACHDEd FIRIR Hl SHgHIaA

qE AHAT S FRe & aRM A
IR F qd FRAT S &, IH F@l S
%.

(1) TRTHE SAHAT
(2) TAIHS ST
(3) Mo aTreper
(4) MeEFTHE STbe

S U & G e & R
% FPAN TF dh GO & e
H G H T & Sl ©

(1) Gadl T TR H

(2) yd wfRaTHH ST

(3) ¥ Wik e |

(4) Slvene dfpares orawr §

Level-2/3203

[6]

11.

12.

13.

14.

15.

Which of the following is not related to
the classical conditioning experiment ?

(1) Extinction
(2) Spontaneous Recovery
(3) Shaping

(4) Stimulus Discrimination

'Autism' was first described by :
(1) Samuel Kirk

(2) Leo Kanner

(3) B.F. Skinner

(4) J. B. Watson

Out of the following alternative which
one is not comes under processes in
socialization ?

€]

Learning to behave in socially
approved way

2)
3)
“)

The Assessment done during or before

Playing approved social roles
Development of social attitudes

Approval of egocentric behaviour

instruction is known as :

(I) Summative Assessment
(2) Formative Assessment
(3) Formal Assessment

(4) Diagnostic Assessment

In which of the following stage of
Cognitive Development, as described
by Jean Piaget, a child become capable
of understanding 'Conservation' ?

(1) Sensory Motor Stage

(2) Pre-operational Stage

(3) Concrete Operational Stage
(4) Formal Operational Stage



16

17.

18.

19.

20.

21,

PlEde] & AR, AW ATH/ A
e 1 AR I B T ©
(1) d Wi b &

(2) 99T Wik Sfcehar &

(3) wifhe Aferpar

(4) Afcepdr 1 G

IR g4 B A A TR W wE g
F & 59 o Ta-fuar @ Y 9=
W dAR A™ | Te g § 9 9
YRR G JRT H IR © 7
(1) 99EFTHH (2) &

(3) TEHERT  (4) foRds

Frifed & @ &H-a1 Faoa 1y

R’ & T THR el & ?

(1) @ FGHE (2) FE

(3) T (4) PR AT

g@ F ‘FEag &’ (Three Stratum

Theory)ﬁ'EITTI'CIT%i

(1) 9= % 8 (2) ™9 % &

(3) A ® 8 (4) ded B &

frifed & @ #9-a1 Fo9 9Rdw &

SehT &5 & ded H 92 J@f e 7

(1) I8 ARk & & Whed aig § Red
BT 21

(2) TE AT dadr giharet # Hewmar
T 2|

(3) T 97 IS H HI BT 2 |
@) T& 9= F I g ¥ e H B

I TF T AR gE ST W@ B 1%
A Y& IS4 & 915 I A {6,
qE TART T T -

(1) e S &
(2) Gadl Ui
(3) UishaTHS Tl
(4) gRETed Hid &

Level-2/3203

[7]

16.

17.

18.

19.

20.

21,

[A]
According to Kohlberg, Good Boy/Good

Girl orientation indicates :

(1) Pre conventional Morality
(2) Post conventional Morality
(3) Conventional Morality

(4) Relative Morality

Four year old Binny started wetting her
bed after her parents brings home a new
baby. Which of the following type
'defense mechanism' it is ?

(1) Regression (2) Suppression

(3) Rationalization(4) Displacement

Which of the following is not an
example of newborn 'reflexes' ?

(1) Eye blink (2) Sucking

(3) Swimming  (4) Driving Car

The 'Three Stratum Theory' of
Intelligence was given by :

(1) Piaget (2) Binnet

(3) Carrol (4) Cattle

Which of the following is rot true about

the Broca's area of brain ?

(1) Itis located in the left frontal lobe.

(2) It supports grammatical processing.

3) It is
production.

responsible for language

“)

It is responsible for comprehending
word meaning.

If a child is sharing with you what he
did after he got up in the morning, he is
using his :

(1) Semantic Memory

(2) Sensory Register

(3) Procedural Memory

(4) Episodic Memory

P.T.O.
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22,

23.

24.

25.

26.

TedE-eEd & ax ¥ feied § @

HF-TT FIF T 78 B 7

(1) € GFFI-8d & 0% TR 2 |

(2) T& “@nT @ 8’ (Make Believe
Play) & S8 & i SIMT I 2 |

(3) TEH U FERR dHIed € |

(4) T8 BHM YASIIEH Bl & |

fopdll oTgfRar & AT B TET & [T

fpelt ot SEiue & TN @ wed E

(1) HHRHE G

(2) THRTHF YA

(3) &8

4) 3%

7 FYT b A, dEr gl
oA A Th I &, AR

e O B B Gle-dee & adl g,
d9 ®X H Gl ot IoK ol &g &l
ST B | T8 SEEA ©

(1) HHRHE GA Hl
(2) THRTHS YAeeH H
(3) FHNHS €8 &l

(4) THERIHE &S A
JEET B

(1) WfEhaTHS 5 F

(2) HYOTHE 5 BT

(3) W& 9 &l

(4) T fopeq T2 T8 B

Level-2/3203

[8]

22,

23.

24,

25.

26.

Which of the following is rot true about
dramatic play ?

(1) Itis aform of active play.

(2) Itis known as make believe play.
(3) Itinvolve overt behaviour.

(4) Itis always reproductive.

Presentation of an unpleasent stimulus
to decrease the occurrence of a response
is known as :

(1) Positive Reinforcement
(2) Negative Reinforcement
(3) Punishment

(4) Motivator

The statement 'Personality is nothing
but a set of learned responses', best
describes which of the following view
about personality ?

(1) Behaviouristic view
(2) Structuralist view
(3) Functionalist view

(4) Cognitivist view

The seat belt buzzer of a car, stops as
soon as the driver put on the seat belt. It
is an example of :

(1) Positive Reinforcement
(2) Negative Reinforcement
(3) Positive Punishment

(4) Negative Punishment

Knowing 'how to ride a bicycle' is an
example of :

(1) Procedural knowledge
(2) Declarative knowledge
(3) Explicit knowledge

(4) No option is correct



27.

28.

29.

30.

fepreerd & SRM o1 & X & fae
% W Ued el 5| a8 famm @
-4 Tgf @ daran A §

(1) &= § e & 3R

2) B8 WaH AR

(3) THET

(4) THIBT

T F T & ded d g § @

PIF-A1 HAT TEl TaT &

(1) To-fhetl & de g "ed &
|1 HH Bl AR 2 |

(2) Y @1 & HE-EY Tl @
QST BT S 2 |

(3) WY T drd @RE e g
T4 & Ay gedl S 8 |

(4) g T4 & AT TG @ AFE
7§ IUYH & S 8|

TR/ Heel STeTHAT T YRR B
(1) TS FeTHAT B

(2) STEETH SFeTHT I

(3) S ST &

(4) gfte e &

fifed § | fopd gieehior &l I8 Jrar
¢ [ 9 oo & dad e 787 e 7

(1) T & daTes 9w &1 e
(2) FIBETE

(3) AHINTE ST e
(4) unRafder 4 fera

[9]

27.

28.

29.

30.

[A]

During the developmental period of
foetus' head is well developed before his
legs. This best describes which of the
following tendency of development ?

(1) Proximo-distal
(2) Cephalo-caudal
(3) Uniformity
(4) Integration

Which of the following is rot true about
children's play ?

(1) The number of play activities
decrease with increasing age.

(2) Play becomes increasingly social
with increasing age.

(3) The number of playmates increases
with increasing age.

(4) Play become

increasingly sex-

appropriate with increasing age.

‘Dyscalculia' is a type of :
(1) Locomotor Disability
(2) Learning Disability

(3) Intellectual Disability

(4) Visual Impairment

Which of the following theory assumes
that
continuous process ?

Child Development is not a

(1) Cognitive Development theory of
Piaget

(2) Behaviourism

(3) Social learning theory

(4) Ecological system theory

Level-2/3203

P.T.O.
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HRT — 11/ PART - Il
A (R= ©d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &=/ HINDI ]
3T : =it ged] & 37 @7 % [ qe98 ST [weT g

32.

33.

34.

‘Fhgs’ a= | |y ®
(1) @< 9 (2) UM Hfr
(3) foeet =y (4) <o Hiy

e gite 8 g fahed g
(1) fergar (2) dioten
(3) ferTeT (4) @

fopg are H geE Uesd & OSERT gl

g7

(1) W e § 9 @2 999 W T8
TedT |

2) Redl 4 @d 2@ ard gar |ie
Tl T TeaH |

(3) T F d@m & TEEN, V-
TGOT Hl HX STl |

(4) dredl |t & fr, W T2 Qo
EEUREIN

g arm d ‘gemel gRv @ TN geM

g7

(1) 299X FRI Al &1 |

(2) 9T TE YHXOT i ST |

(3) @ & 39 a9 gg au &

(4) I I8 gear ar AT 9% 1 S |

Level-2/3203

35. fp9 g H dEAIHE f9WOT @ uEnT
g & 7

(1) 9 &9 T T 7B F2l © |
(2) S AR @1 & IW =X GRAAl |
(3) TH BRI & fow B f6ad o e
(4) BB T B, FB H H&T

36. ‘G fedWy femgar @Il aed § ugE
fopa fqQITer 1 9% 2R T
(1) hreareen fpar fasor
(2) e foham fLroor
(3) TATE fopar fasier
(4) URETErEE R Lo

37. S7GYT U BifeU :

(1) 96 % q &l I awcll HJAo —
&

(2) EUET { Ted B T — Jare
(3) 8 [WHE TR @ & U -
AEH

(4) SIRT TR TG — el



38. 9 Wgﬁm:

39.

40.

41,

(1) 8 st g5 oAM= & A9
gat|

(2) A% § F2 9T WA 2|
(3) 78 BEgN daq BEwRl & fw 2|

(4) ¥ T 7O L FHTAT AR E |

fora fomea o ageT w9 7@ 7
(1) argeETgd
(2) digfe
(3) IUFEA

(4) ey

/9 & 9 59 fodeg § B8’ @1 9T
T ?

(1) s
(2) T
(3) &=
(4) T

g Y ara foeked g
(1) 9% + 39 = Hewd
2) fo=d + 9@ = a9y

(3) dq + IUTd = TR

(4) 9 + AIqH = TSI

Level-2/3203

[11]

42.

43.

44,

45.

[A]

dW-qa9a & gfe 4 oo faecd
g

(1) ardie — S

(2) EHaT — el

(3) TS — AT

(4) v — Al

fope fohca | & TR BT AT 78T gl
g7

(1) |

(2) TEHA

(3) FTogEr

(4) |y

=1 d @ e g

(1) WHgE & O em@n o 2|

(2) THI ERT FE GAR T |

(3) FA A [ A B |

(4) fFamt B wad #e o TE 2|
= & ‘Hepr o=’ b faee § FEf R 7
(1) fosmoear

(2) S

(3) AT
4) feieB

P.T.O.
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[ 3735 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

Fill in the blank with appropriate
preposition :

We're going for a drive ........ the
country.

(1) on (2) at

(3) in (4) for

" He wore a turban made of silk."

The underlined words are :
(1) Adverb

(2) Adverb Phrase

(3) Adjective Phrase

(4) Noun Phrase

"There is a mystery about his death and
the police are looking into it."

The underlined phrasal verb means :
(1) To investigate

(2) To take care of

(3) To look behind

(4) To revise quickly

Fill in the blank with appropriate

preposition :

We stayed ................ Mumbai for
five days.

(1) in (2) at

(3) into (4) by

Level-2/3203

50.

51.

52.

53.

54.

Hearing the noise, the boy woke up :
(2) Noun
(4) Participle

(1) Pronoun
(3) Verb

"They arrived soon after."
The word 'after' is used as :
(1) Preposition  (2) Adverb

(3) Adjective (4) Conjunction

Fill in the blank with appropriate

conjunction :

Grievances cannot be redressed
................ they are known.

(1) unless (2) and

(3) but (4) before

Choose the most appropriate modal for
the blank :

When I was young, I

................

climb any tree in the forest.
(1) can (2) must

(3) may (4) could

Choose the correct verb for the blank
from the options below :

The earth ................ round the sun.
(1) move (2) moved
(3) moves (4) shall move



[13] [A]

55. Choose the correct answer from the 58. Choose the correct word for the
options below : following expression :
"I took it home with me”, She said. One who makes maps or charts.

(1) She just took it home. (1) Cartoonist

(2) She said she had taken it home with
(2) Cartographer

her.
(3) She said she would take it home. (3) Choreographer
(4) She said she will take it home with (4) Choirmaster
her.

59. Fill in the blank with the correct

56. Choose the correct passive construction S
option :

for the given sentence.

They were Carrying the injured player I have not heard the ................

off the field. news.
(1) The injured player was being (1) latest
carried off the field.
(2) late
(2) The injured player will be carried
off the field. (3) latter
(3) The injured player must be taken (4) later
off the field.

(4) Carry the injured player off the 60. Choose the word which 1s spelt

field. correctly :

(1) Disentigration

57. Fill in the blank by choosing the correct (2) Disintegration

option :

(3) Dissintegration
Heis ....coouenene. his glasses.

(4) Desintegration
(1) look for
(2) look

(3) looking for
(4) will look

Level-2/3203 P.T.O.
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HET -1/ PART -1l
qHE 31991 / GENERAL STUDIES

[ AT qRgdT, dliche AT ol €M 319 U9 S1FsTM / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

A@sr : =i god] % Gav @7 & [T qae S [ g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

o frdl ®E @ 2 R # war ® oI
fig 28 6 &9 & &war 21 3 et
fre el ® 39 & @ e ?

(1) 2/3 &&F

(2) 32 &9

(3) 5/3 f&q

4) 3 &9

20 U/ T 25 T % g 324 o T,
e a2 71 8, @ 20 T8 % I

fre foa 2 ?
(1) 124 (2) 140

(3) 200 4) 210

T9 & T gemdell § Ay 6 19 € %
UO% b 3% Ued 1 A S5 S 8
3w 9 § 331 997 & 7

263756429613416391569231654321967

(1) T
) A
(3) a

4 =X

Level-2/3203

61.

62.

63.

Amulya does a piece of work in 2 days
and Bindu does it in 6 days. In how
many days will the two do it together ?

(1) 2/3 days
(2) 3/2 days
(3) 5/3 days

(4) 3 days

A total of 324 coins of 20 paise and 25
paise make a sum of I 71, then number

of 20 paise coins is :

(1) 124 (2) 140

(3) 200 4) 210
How many 6's are there in the following

number series, each of which is

immediately preceded by 1 or 5 and
immediately followed by 3 or 9 ?

263756429613416391569231654321967
(1) One

(2) Two

(3) Three

(4) Four



64.

65.

66.

67.

i "BORN" &I "APQO" e fFam e
2, "LACK" & "KBBL" %< f&ar s
g, @ "GRID" &I &z fam S :

(1) FSEH (2) SFHE
(3) FSHE (4) FHSE
% fafeaer & &9 wd 9§, oM
T W B A B FdE 80 B

IRl A # dE 200 BN oA g8t
& ge& fha ® 7

(1) 20
3) 52

e
%
(2) 40
4) 60

qEel H HE-A1 99 H W™ TR @
e 8 7

2,14, 16

(1) 2,7,8

2) 2,9,16

(3) 3,21,24

(4) 4,16, 18

YT

L & RaaTel e 21

1L 8 <FeT Fias 2 |

s -

I %8 Sl gl & Ary-are Fias
G2

I &+ Ffs S 2 |

O = H | e gel B 7

(1) Faa {7 [ STgaReT &Y 2 |

(2) Faa fTepd 11 STEReT HYa ¢ |

(3) 2t F=pd 1 11 STE #1398 |

(4) 7 R 17 & 11 FFaRT & ¢ |

Level-2/3203
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64.

65.

66.

67.

[A]

If "BORN" is coded as "APQO" and
"LACK" is coded as "KBBL", then
"GRID" will be coded as :

(1) FSEH (2) SFHE
(3) FSHE (4) FHSE
There are deer and peacocks in a zoo.
By counting heads they are 80. The

number of their legs is 200. How many
peacocks are there ?

(1) 20 (2) 40
3) 52 4) 60

Which set of numbers is like the given
set ?

2,14, 16
1 2,7,8
) 2,9, 16
(3) 3,21,24
@) 4,16,18

Statements :

I. All players are doctors.

II. Some doctors are musicians.

Conclusions :

I. Some doctors are players as well as
musicians.

II. All musicians are doctors.

Then which of the following is correct ?

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both conclusion I and II follow.

(4) Neither conclusion I nor II follows.

P.T.O.



[A]

68.

69.

70.

71.

A+ P A X H A
H AT '+ A - Foardd X @, ar
16-8Xx6-2+12="2

(1) 22 (2) 24

(3) 23 4) 120

A BH T % C,B&H 1 8, D, C
H TS, EEDHACIE, ¥ A DA
T g B ?

(1) =&
(2) Hmr
(3) ETEIAH
(4) TERAT

=T 9o T ST UE ST @i
0,5,22,57,116,?

(1) 205
2) 216
(3) 192

4) 207

@%%mw%tﬁsﬂﬁméﬁa
Il R WX f&@r S g, @ 38 g‘lﬂ‘T
TS B, A OF K A ©

(1) 24deX

(2) 357X

(3) 38X

(4) 427X

Level-2/3203
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68.

69.

70.

71.

If '+ mean '+, 'X' mean -,
1.1

+' mean '+' and '-' mean 'X', then
16-8x6-2+12=7
(H 22 2) 24

(3) 23 4) 120

A is B's sister, C is B's mother, D is C's
father, E is D's mother, then how is A
related to D ?

(1) Daughter
(2) Mother
(3) Grand Mother

(4) Grand Father

Find the next term of the following
series :

0,5,22,57,116,?

(1) 205

(2) 216

(3) 192

4) 207

A tank is % part full. If 16 litres of water
is added to the tank, it becomes gpart
full, then total capacity of tank is :

(1) 24 litres

(2) 35 litres

(3) 38 litres

(4) 42 litres



72.

73.

74.

75.

76.

77.

Uk A9 Ay # faw A @ d@en @
Bl & ?
1 o
3) 2

Je Bl ¥ Bl G G Hie, e
12, 15, 20 31X 54 ¥ 9N 39 W YIS

2) 1
4 3

Z9M B 9% 8 AT B
(1) 504 (2) 540
(3) 546 (4) 548

M A & T B H AT Y 40% FH B
q B H T A H AT G fhaw e
aferes B 7

(1) 25% (2) 40%

3) 33%% @) 66%%

JE Bld 9 Bid @ g difee fed
294 H oM HH ThH O a1 qeA a1
S g ?

(1 3 (2) 4
(3) 6 “4) 12
gz frt 222 2 g & @ aed am
5°89°13 11
w9 T Fafed & oiar 3 @ 9 e
W -8 = 2rft ?
3 4
(1) 3 () 9
5 6
(3) e “4) 1

JOH A g gEnel & efed e

1 8 2 9

1 2
@) 8- @) 8-

Level-2/3203

[17]

72.

73.

74.

75.

76.

77.

[A]

What is the number of odd days in a
leap year ?

(1) 0
3) 2

2) 1
4 3

Find the least number, when divided by
12, 15, 20 and 54, leaves in each case a
remainder of 8 :
(1) 504
(3) 546

(2) 540
(4) 548

If A's income is 40% less than that of B.
How much percent B's income is more
than that of A ?

(1) 25% (2) 40%

3) 33%% @) 66%%

Find the least number by which 294
must be multiplied to make it a perfect

square.

(1 3 (2) 4

3) 6 4 12

If the fractions g,g,i,i and 6 are
58913 11

arranged in ascending order, which one
will be fourth place ?

3 4
1) = 2) —
ey < 2) 5

5 6
3) 3 @ 5

Find the average of first seven prime

numbers.

(1) 8 2) 9
1 2

3) 87 “4) 87

P.T.O.



[A]

78.

79.

80.

81.

82.

SHTT P ST I

(1) EINO (2) HMQR

(3) KPSU (4) NSWX

ST AT I BT AT G WS
120 fepHi/aoar &l i & T AT AT

FR &R 80 fRHi/aver &t T & T e
g, @ I AHg T B ?

(1) 88 fepHi/guer
(2) 92 fepHi e
(3) 96 fpHi e
(4) 100 fpHi/Foer

I 11 TR 10 593 ¥ @i o £ g
10 g} 11 98 ¥ 39 & &, af ar
ofqerd 2 -

(1 11%
(3) 25%

ar
GIE

2) 21%

4) 28%

g | U 9o @ el T Red
g7

(1) &= §

(2) AT H

(3) =geT |

4) e d

Frfafaa Raenfedl & & fres goul @l

800 HieY 2g H whiEE @9 — 2018 H
WOl qEeh Sfir ?

(1) f5Fas S
(2) AIsid T4
(3) Ifu=X e
(4) T FAR

Level-2/3203
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78.

79.

80.

81.

82.

Find out the odd-one :

(1) EJNO (2) HMQR

(3) KPSU (4) NSWX

Arjun travels half of his journey by train
at the speed of 120 km/hr and rest half

by car at 80 km/hr. What is his average
speed ?

(1) 88 km/hr
(2) 92 km/hr
(3) 96 km/hr
(4) 100 km/hr

If 11 oranges are bought for Rs. 10 and
sold 10 oranges for Rs. 11. What is the
gain in percentage ?

() 11% 2) 21%

(3) 25% 4) 28%

Where the Vulture Conservation and
Breeding Center situated ?

(1) Kairu

(2) Morni

(3) Zhabua

(4) Pinjore

Who among the following athletes won

the Gold in Men's 800 m. race at Asian
Games — 2018 ?

(1) Jinson Johnson
(2) Manjit Singh

(3) Arpinder Singh
(4) Rakesh Kumar



83.

84.

85.

86.

BT H1 & SN qd Hemhi § A
& U9 &5 & STNd HMT S o

(1) @t (2) e
(3) I (4) FHaA

el JRelEY & 9] H T B

W = #iflT

(a) SeIN farar § dered @ |

(b) IR TE ¥ AN HIT & T
STRESH H 9T o

‘g’q?jaﬁ 4 8 HE-AUHE-E BT G 8

9

(1) Fad (a) T 2|

(2) Fadt (b) TF B |

(3) 7@ (a) R T & (b)TH B
4) A (a) AR (b) A 2 |

el 91 R 1949 A % NN
IEE & oY ¥ FRYGR fRar -

(I) ggHe ST
(2) oA @
(3) qIF ol
(4) 99 @™
feeferieT el GHfer difon
AerE P ot
A. 3TEo 3o Mo do (i) sdsh
B. 3Eo 3o WHo (i) G
C. To ¥Eo o (iii) GrRET
D. o #Bo Tho do  (iv) FH&A
el %2 G
A B C D
(D (i1) (1) (i)  (@v)
() (1) () (iv) (i)
(3) (iv) () (i) (i)
“4) (1) () @) @v)
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83.

84.

85.

86.

[A]

The area of Haryana, which was
considered under the sphere of
influence of Bhadanakas during the Pre-
medieval period :
(1) Rewari
(3) Panipat

(2) Ambala
(4) Kurukshetra

Consider the following statements about
Lala Murlidhar :

(a) He practiced Law at Ambala.

(b) He attended the first session of
Congress held at Bombay.

Which of the above statement/statements
is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.
(4) Both (a) and (b) are true.

The Wahabi leader, who was arrested in

charge of Sedition during 19th
century :
(1) Muhammad Zafar
(2) Ghazzan Khan
(3) Mubarak Ali
(4) Salman Khan
Match the following :
Education Institute District
A  LLLT. (i) Rohtak
B. I.I. M. (i1) Sonipat
C. N.L.D. (iii) Punchkula
D. N.LF.T. (iv) Kurukshetra

Choose the correct code :
A B C D

I a @ ) Gv)

@ @ @O  (Gv) (i)

3 Gy @O  >) (D)

“4) ®» @ @) (1)
P.T.O.



[A]

87.

88.

89.

90.

Foe o # fohae a=etig ot 2 7

(1) &

(2) =
(3) T
(4) 9

frefofeg & @ #9-9 a0 & 999 39
e SNEE 7

(1) wam
(2) Ae=TE
(3) Sifg
(4) fergar

3 ug §f Y 5 $ aR H et

FoE W o= i

(a) IE ‘I UNGRT TRHEd’ & w9 A
off T ST R

(b) 3 g 4 TFOE M W UE T
el 1 g oA SR |

S § O BE-A/AE- FE T
7

(1) #ad (a) T4 2|

(2) B9 (b) TA |

(3) T @ (a) AX T & (b) TH 5|

(4) 3N (a) 3R (b) T £ |

i & fpe dedia §

(1 71 (2) 93

3) 76 4) 68

[20]

87.

88.

89.

90.

How many Wildlife Sanctuaries are

there in Jhajjar district ?
(I) Two

(2) Three

(3) One

(4) Four

Which of the following districts has the

lowest urban population ?
(1) Mewat

(2) Mahendragarh

(3) Jind

(4) Sirsa

Consider the following statements about
KMP Expressway :
(a) It is

Peripheral Expressway.

also known as Western

(b) Five new cities will be developed

along with the KMP Expressway.

Which of the above statement/s is/are

true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

How many Tahsils are there in Haryana ?
(1) 71 (2) 93

3) 76 4) 68

Level-2/3203
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[A]

AT - IV / PART = IV

USTSt / PUNJABI

91.

92.

93.

yged fan Ioret @ ur3g J?

(l)ﬁl‘f%rﬁ@‘!ﬁ??ﬁﬂ‘

(2) Emvet

(3) €3 &=

4) st = fung

fiie aHg St T FAoH ae w3 faw

Jfemr?

(1) 23 @& 1936 &, == fiz
Baetmt fagr frsdae
(Urtufarst damg) feg

(2) 08 @T®E 1940 €. & wI
(Igemyq) feu

(3) 09 »ag=gd 1932 &, fis fowsys

(4) 15 <99 1943 . §,qu?)‘-|3"?§@
gae3 fag € fiz ¥t suels
fey

fagg e mfgag’ feaat &9 um T
He/ferreng 99 faosr Tus wgns3
St J?

(1) feg featalt féa »nite ug dgm €<

g WsfrazT § samger J1

Level-2/3203

94.

(2) feg featat f€a y& g™ =8 €<
T W& ©F Uardt <t Jder J1

(3) MI3HeE HETW W3 'TH-HEgdl
few featait e aedt femr JI

(4) fagz & Afgae & =ufsr w3
€9E F9aET Hy HE ©F HIS<YdeS

3o JI

Hes B8 glidger ffq fegddt #»3
wiggw fedut da== ATl few o7 37 €
gege wagat & §re fust 37, mrfow
fesr gfewr At ?

(1) fa@fa 8T mme M € o3 =

HH™ HU'JA HS |

(2) fa€fa 3oed I Jq9a fAT3 A==r
T ¥39 &g mw & €8 & ==t
I3t @ At

(3) fa@fa € w3 wils, fEazew

M3 HESET AdIgeTd 8¢ AS |

4) fa@fa €v ¥a »iomwa-ynz " |

P.T.O.



[A]

95.

96.

H. 993 fAw #t € fuzr e & &t At?

1907 €<t ffg A< g9 fw & AaH

H& ?

(1) 7wtz fiw : HiEs (i) <t
75 <

2) 7. faws fAw : Feas A% BWd
feg

(3) H. A=ds fAw : »i3ws M3 fadea
(a@yret) &t 7y s

4) 7. wWFtz AW Ae® 78 B4
feg

wfen fadt € feaue v at va= I7?

(1) ug Bat & wfen, Afad M3 wfgat
Ales &% A3sT

(2) feformrs feg dwt gobdt due =8
UTTE 96T

(3) ©n & da=s ulst §, feforrs €
it 3

HdIdd ddoT

H&dAd 3Idd &%

4) wfén € fefenraat & uhie-fegs
ST AEE HIEhAT JdaT
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97.

98.

99.

rfoga fadst-1 &9 mum fea Igsr
f&g ‘T9% Aagaws & & g € faaq
13T fapur I feg der d= I ?

(1) HI™3HT §U €T Y39 J|

(2) g8¢ 2I5 © aw des I fea
fefaprst T

(3) f&x Hat wa= §ut By J|

(4) HI3aWT gu = e fam J1

Al Ut usuRsa gAr ustf’ €

YT d< J7?

(1) fewreT vgs fifamt &9, faemat

(2) waIg fHftprm wifgms, Was< FATS

fesl'dl, g'd3 HdJ'd

(3) ywret Arfgg waret, fEat

(4) ¥fea fifenr fegmar, afenrer

37. I TC »iETad € H7EH de MI

fag Jfemr?

(1) 14 »yds 1891 €=t §, a3
formg € fils vy <9

(2) 14 »uds 1881 €. &, Vo yew ¢
fis vy <o

(3) 17 <a=dt 1863 &, wuewe fag
v fiz meds <9

(4) 05 ©H=Ed 1872 €=t §, IBA3T
feu



100.

101.

102.

e fesase & e dAles-a® (AaH
3 N3 3F € ALY), 9 T < I AT ?

(1) 05 =g 1872 €. F 10 @& 1957

st 39
17 gd=dt 1881 ¥m=T 3 31 W99
1931 &t IF

2)

06 HEt 1861 ¥m=<t 3 08 »Im3a
1941 &t 3

12 As=dt 1863 €. 3 04 #®T=t
1902 €. 3

3)

“4)

fefarrst e 3 fem=r 37 wEEsm
& Afoy e €9 faosT musT W
fang €9 yar adt S &9 A ?

(1) »gt. €. WH. MSAd g5 &

(2) ysft € Fggd & g@EAT I
uduge e

(3) =AT »eng g5 ©r

(4) 993t g=vet A & Hait AIH T
yfese g5 @

BT © SA%’ € JG&T aE J MI
feg o mfag € fan gu & Adfuz
J?

(1) Jggas fiw Jes : afear

(2) IIgds fiw aHs : afesr

(3) 3ITBEs Mw &% : gart

(4) HIGHIZ 9 : By
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103.

104.

105.

106.

[A]
fagsT y39 ‘99 IH IAST feaiai e
&at 2
(1) umgr () =t

(3) ¥ &H (4) gwrdtmT

‘9T IBAT I3H 59, A It Brfea st
391

J9 30T &t fag w9, ui§ aear
ut @vl”

I8 I &t I= J?

(1) ¥HH3

(2) AHdET

(3) IAr-asT

(4) ¥'T T8 &7 UT9g

B I& & fe@er yored @ Jf wag
J?

(1) Jad A=r

(2) 79T <t Ui & ddaT

(3) ®Hd FAI&T

4) fuger ggaT

q o fiw & 835 <9 77  fawm
Wigldd WeAd & MruST Jist e femar
gErfemT ?

(1) #&ds 5fed &
2) 95 FHIA §
(3) A&TS AN &
(4) Heles Gaefes §

P.T.O.



[A]

107.

108.

100.

110.

s5q fAw @ 67 = @r & &R
fmg wfgz maeit e fes g=
‘Afa3 MIeHT M98’ ITHS JfemT?
(1) f&g s © IB=aT

(2) fder &g

(3) ufeza umgt

(4) »ig fufaqr 35

NN

‘HET 399 T& ¥, WS BEE TS Y|
U3t '3 Hfgew i, uret, g 3 Ju I
‘Gut g% Il W Jfesr I
sEt gretnt fegst Frfe-dastit &g
T3 I mEE ‘Hidew € ot »@g J?
(1) =g/sayq (2) Hu/Ae-HEd

(3) mIfumz/mAg & (4) UF-uf<3a/my
Ad € Ad B mEe’ @ feasy 9 ¢
(1) uzg, Je, fést

(2) uar, 937, ¥87

(3) U, faus, atee

4) fH39, &, ofar

gefdag ffw s973 < et ‘emdst
A € faul Ba &7 Hefuz 97

(1) wfggt/zaEt feg =ne Jat &5

2) U3 S &7

(3) HItaaEt f<9 =ne 8at 58

(4) awfodt f&9 afde ot &%
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111.

112.

113.

114.

nffggr yew &9 faost gwr §st =it
J?
(1) 3™

(3) d53

3T AT JE U T wyE & I

-

qd :

(1) € Ju a8 3=t &t A<t
(2) »iar &=, fusr 331

(3) myST atdW, ydTfenT €99l
(4) "et BT ogmTEL ¥ B E gt

(1) wyst vt &t In=le &
(2) H. 939 fiw Aarg™ & AT &
(3) Mrust Vidi3g &t 3ASlE §

(4) o5 fesaset s&T Jefers <t
ELCIcAY




115.

116.

117.

‘Fafent” & AUS g &9 95 wEEs
gH3t S wue I5 | ydls T &9
feagt g widg fam & dfemr?

(1) b feg

Q) TeEs fog

(3) 993 € fEq Syt gy 9T f&a
4) aus feg

‘gaz ¥ @3, muyE It fAg utet”

myEe © I3 fad fadt mfast f<s

St A7Er 32

(1) 7€ fan you <& Hous™ § =09
JId TAST I< |

(2) fan J9 <t q9g3 a9s, fan Ja &t
ge&s™t A€ |

(3) A€ dg dger fan wer gda3z
gId mruST gfeaadt My It ga=r
2|

(4) 7 FE vay g wies ‘T faas
d, gHdt HHtes &9 en A= |

UAY AeEl® qust (vfed =&t Fqust)
g% fas fuztat Je 57

(1) 14 2) 12

3) 10 4) 08
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118.

119.

120.

[A]
et fesaae ©F g9us e & &f At?
Gust € gg = & =t EHI

(1) g9us e & : fenes™
dg € & : AR I Slem

(2) F9Us T & : fenen<a
Jg € & : AR Tdfidnsd

(3) g9Us T & : fenenHg M3 sdTd
3§
Jg € & : I fqus ueHdn

(4) g9Us € & : 5d€d &'H

Jg € & : JUE fqEs uaHdw
9913 dfee™ At fam mas '3 A3t Af3
AN A& ?
(1) arads © AEs '3
(2) amwt feur
(3) dt=r feu

4) fe33 aa mas I

“at 93, ot Ui, 99, o WEt, &
Earaall

A&t & yHgEl 23, AIST § ATl

uAga Afosd fagst-1 f@9 wan feg
Frfe-A3dt faost gusr &9 57

(1) 9% wWat g3t mfgd mfga
2) Za=t Aar I muE

(3) g9

4) AT &

P.T.O.



[A]

121.

122.

123.

g% fifirr yug 95 sE H. q939
fiw AegT 7 wetar foprr 3t €9
e fd& =fgut ar wt?

(1) 21-22 =fgut &r

(2) 19-20 &7 €7

(3) 17-18 w&t &v

4) 15-16 =fgnt &

et feit fde Gogsamt € ys=
a95 Ua-fdet U & »ivgt &t faest
fast g7

(1) u= 2) &

3) &= 4) v9

TAT U™ US-UAST Y AHE J9sT
Tt 3 fegt v afegy faosr I »3
ferer 399 d= JT?

(1) feg féa Tova-funrdt Ba-aEr JI
AYT 393t ATH ferer ggsaa J1
feg ffa g3-3ea I AIWHs H95
ferer 3y JI

feg gusr dfore &t feg Sa-arar
3| Sgarar (BIAfog) @ won
YU3 I ddd Wyt AT AdeT
fa feg gfernestyt &t fa mfoa
Jo&T JI

fev fédg g@ao<t J1 TI-IHF
3. Tans fiw e fere geasag

2)

3)

“)

Jo |
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124,

125.

126.

993 € HEdT JHeIUST 3T & Ut 7.

WMIES I8 ATfgg € yar &t &t At ?
(1) wEegsT yfag Afad Mees I&™

(2) MEs uUfdd #AgEEEls  HMIES
d8™

(3) mfes Udd ABBEs WEes a&H

(4) wfreHT g Frfdanst Wees aB™

“fqir At 3 S aF A, U st ford
MISISt  d-HS  gfedr” fopdrat
e fer =9 o9 W mE FE T @t

g J?

(1) Aeu, As3 A If<u=mr=t

(2) feu, ferd 7 Haz

(3) ¥a, A, fAg9 A7 59 w3t

(4) ymueEdt A fegraurar

Hes B% SlaeT ©f a8t 5% W9 9’
"aled MEAd € o & At ?

(1) 393 IdHs

(2) BTF HIS

(3) W3 9w <est

(4) ITTF HIS



127.

128.

129.

Jaferrs fAw Ifgs fegiat ‘gagmar

I3at’ fam We '3 wufag J7?

(1) 393 € HAge Ufus=® FI39 Y
g d3ar '3

(2) & faast W3 Hagat et fEa3t-
THIGAT M3 JaHT-Zautt '3

(3) @39 & € feq AgI” € I3l
CAC U L e

(4) gt Jed Ue udBe fent
gt HAgahdt M3 BTaatit '3

SH-UHt de 3 fes=r Hes &% ElaeT

afestpit & At €9 fam a<t <t

fagst afesr 3 g3 yofes wt?

(1) & #H. WEbie < afesr <SHe

(2) "M3IdAe JIHI= & J9&T ‘€8z HE
ng e A I
3) €. 2. foGw &t afes ‘Gzz How

@) 4. yas fiw < gfesr & Afuse
96 Uus’ 3

“4g dit U Jehwt’ gEeT =T
Jg&Id M3 Afag gy fagar 97

(1) oW gus : fdar 3y

() Ifdeg fiw : 3y

(3) d. W%, Igar : feviar By

4) amftT at9 : afesr

Level-2/3203
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130.

131.

132.

[A]

gfeg d9 IfE3 st €u I Uz’ =

Hy femr at g2

(1) dfent gumar Wiyt & Saedt €t
AT

(2) foufamt m3 €U € Iudiade @
HHAST

(3) Y39t &t miEgdit M3 s&fedt

(4) ¥3t mofez Uz ufsee f& €U

M3 U3 ©F 83 M3 HI33T

gig-fefgam »iee didt gt A = <57

& T 85T € wg fd& U39 & AGH
fanm?

(1) &

2) 3=

3) 99

4) =

yfAu wafefardmast arssd & WS =g-
gal (Multiple Intelligence) fAuts muts
fds 3gt <t gut @ ysWr &3 I7?

(1) U7 3Ig+ &t
(2) iz ygg <t
(3) & fomy <t

4) W3 Iaaiut ot

P.T.O.



[A]

133.

134.

135.

136.

fetara (Lipikaar) &t J?

(1) dfuGes et &7 = s=fomr
FHE & J|

(2) 93t gw=r &9 W dd&5 THT
dfuGes e &g Guaféar famen J1

(3) dadt = ufgst W3 fEa-fea =9z
{Ang J1

4) daat v ffq erEifiar meeama J1

UAtst gwT AT goudt feut f&g, Ue-

"Yyg MIg™3 »ydt @ U9t 9 U =%

g fds &7

2) €

(1) 979

3) fd= (4) =n

YT HY Sd1€ Al © HIHE ©F o & At ?
(1) B ydet-8-dts wuew agdt
(2) mv feafes

(3) yT F3uCls gHf3ImTd Jrat

(4) THIS AY HUTHEIS HId<det
fS9 It mE ?

(1) 1962 gnet f&9, FergsT fe
(2) 1958 €tret fw, 2aiE fei
(3) 1966 gt feg sifdar feir

(4) 1958 gt feg wamagr feir
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137.

138.

139.

140.

A. A 93 fAw wmate Ifes afesr
ufgs' &g Jfes’ fresumae 3 ot
g J?

(1) 3t v gfat & ufgst Hg

qI&T

(2) fast yargsT fAg AT

(3) feg féa &3 = & I

4) ugmt &t ffq faurat e fes™ o5
e 39 IUT HWE T e=TEr e

Afoga  fagst-2 yrga f&9 s
gfe3r ‘IJg-Quen’ & 93T dT J7

(1) €f<eg stetudbnr
2) tor v

(3) Sfdeq Azt

(4) u=& gadeydt



141.

142.

143.

UfgsT gen’ us-urga @9 Tad I

Fa INI ‘Hed Hodle' fegst €% ds

J?

(1) Hoas f&g Jforr & Tues
HOT® I J |

(2) wagd € An f& dfenr fiq fens
G JI

(3) Hedt M3 Medt aHa € ubdt =T
fu& I

4) wufea gar &g Jfoqr &g damst
Ba-afed J1

Agfde € A9 FEE@ IHIG HE w3
TIPS et B3Er ae W3 fadg Jgt?
(1) 12 et 1708 €m=t &, mafde feir
(2) 12 Wt 1710 €. &, mafde fo

(3) 12 wet 1710 €t &, duzfest @
Hes &g

(4) 08 Wet 1710 €t &, wafde 338
fiz wgug feu

g 559 3 B J A/ 99 difde R At
3 JIT ©n Jg mfggs 39 fda ggmt
& et /ft g9 ofw wfoy S #ifaz
&t g7

(1) féa gg mrfow &t
(2) € 3@ Afogs &t
(3) <9 JJgAt <t

(4) = qgmt <t

Level-2/3203
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144.

145.

146.

[A]

‘HE_ I gg&T € JE9&SId oS J 7

(1) 7y fiw »es

(2) 39 AW IS

(3) ggawm fAw Ifas

(4) 939 fAw di9

v on fon e & fagr 97

(1) #avs 3 fsdgg € eynit §

(2) mMEIBPAT &

(2) fam g3 o1 & A=E UeT
(3) aHst T AET
(4) ys = €&t mrEer

P.T.O.



[A] [30]

147. #F T gy fam ygo &t mitst <9 149. UAet A9 gahdt f&9 dlow m=qdt <
ger J? g5 farest faat T2
(1) vsdtshrt mitest feT (1) ¥z
(2) yma Mtst feg
) f3=
(3) Stastdt W3 gt mitsT f<g
(4) 3BT WMI YA AHtat 9 (3) um
148. wEdTfod f8ds T #AsH ae w3 fag “4) s
Jfenmr?
150. yAm§t HET-§U MgHd HEw fdat fams
(1) 09 »u3d® 1865 €. &, mudlar < - -
g Je I57?
(2) 12 sa=dt 1809 €@m=t &, fdadw (1) =n
v fég filz feg .
2 =

(3) 09 »ud® 1833 €. & féads &
féa €3 nfgg feg 3) &

(4) 12 Td=at 1809 €w=t &, muatar @) s
T ¥ Ugdi® »3 gq9 fega &9

Level-2/3203



6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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